3 BEERAEFN

(1) 2ERHICHHIEREER

X4 S 6 E S5 E PR 1B (%)
W EER GEYR G  EER GER]| H%  RER GER G (EER GEK
ES = i 484 141 539 521 9] 566 -37 5 27 -71] 556 -48
= i) E[ 190 9 106| 233 5] 136 43 4 -30 | -185| 80.0| -22.1
R E (%)| 39.3] 643| 197 | 447 | 556 24.0
(2) BRBFRERR
4 40
3 30
(J\)2 20
1 10
0 5% 0
EEER SR E 0 0 0 3 3 1 0 0 0 0 2 0 (ﬁ:)
—— {5 2 1 3 20 21 33 32 23 26 24 4 1
(3) EEEMmIRAIFEERKR
S 6 FE S5 & R 1R (%)
B I RER GER G EER GER| B8  RER GER G RER SER
190 9] 106 233 5] 136 43 4 30 -185] 80.0 -22.1
H 32 18 37 21 -5 -3 | -135 -14.3
F 60 32 83 1 52 -23 -l -20 | -27.7 |-100.0 | -38.5
92 50| 120 1 73 -28 A -23 | -23.31-100.0 | -31.5
T ECGE (%)| 484 472 ] 515| 20.0] 53.7
X E B & 34 1 19 31 15 3 1 4 9.7 26.7
] — 2 6 4 4 9 3 6 -3 1 -2 -33.3| 33.3| -33.3
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SH6FE S5 & B HEHE (%)
B I RER GEHR G (EER GER| B8  RER GER G RER SER
190 9] 106 233 5] 136 43 4 30 -185] 80.0 -22.1
4 3 8 5 -4 2] -50.0 -40.0
29 23 30 1 25 -1 il 2| -3.3]-1000| -8.0
15 12 9 7 6 5] 66.7 71.4
48 38 47 1 37 1 A 1 2.1 1-100.0 2.7
20 3 23 9 -3 6| -13.0 -66.7
8 5 9 4 -1 1| -11.1 25.0
1 1 10 7 -9 6| -90.0 -85.7
29 9 42 20 -13 -11 | -31.0 -55.0
3 3 1 10 8 -7 3 -7 ] -70.0 -87.5
34 1 16 37 21 -3 1 5] -81 -23.8
36 25 58 31 -22 6| -37.9 -19.4
8 3 9 5 -1 2] 111 -40.0
5 2 -5 -2 [-100.0 -100.0
27 11 21 10 6 1| 28.6 10.0
108 4 56 | 140 77 -32 4 21| -22.9 -27.3
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SH6 & S5 & b Pl HEHE (%)
LMEEY FEEN | GER 4S5y ER | SER|2=5% REN | GEHR | 4S5y BER | BEH
220 9] 106 277 5] 136 -57 4 30 2061 80.0] -221
151 7 39| 188 2 53 37 5 -14 | -19.7 | 250.0 | -26.4
22 1 21 29 1 25 -7 4] 241 -16.0
11 1 9 21 1 20 -10 11| -47.6 -55.0
36 37 38 1 37 -2 A -5.3 [-100.0
% ) it 1 1 -1 -1 [-100.0 -100.0
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